
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

BP6110-09 03.01 rh600gl K38 19-FEB-09

Engines GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  BP6110-09 Rocker Lever   

1 3053478 Rocker Lever 12  

2       207226 Bushing 1  

3       194037 Rocker Lever Socket 1  

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('rh600gl','/rtgraphics/english/parts/rh/6/rh600gl_sm.png');
javascript:swap_img('rh600gl','/rtgraphics/english/parts/rh/6/rh600gl_md.png');
javascript:swap_img('rh600gl','/rtgraphics/english/parts/rh/6/rh600gl_lg.png');


       3049437 Rocker Lever 1  

4 3053476 Rocker Lever 12  

5       207344 Bushing 1  

       208084 Rivet 1  

       3049438 Rocker Lever 1  

6 3053479 Rocker Lever 12  

7       207344 Bushing 1  

       3049432 Rocker Lever 1  

26 3176772 Rocker Lever Shaft 12  

8       203933 Expansion Plug 1  

9 205393 Twelve Point Cap Screw 12 1/2 - 13 X 2 in.

10 205394 Twelve Point Cap Screw 12 1/2 - 13 X 4 1/2 in.

11 108602 Hexagon Head Cap Screw 60 1/2 - 13 X 3 3/4 in.

12 3630839 Rocker Lever Housing Gasket 12  

13 S 212 Regular Hexagon Nut 36 1/2 - 20 UNF.

14 168306 Slotted Set Screw 36  

15 205128 Plain Washer 96 1/2 in.

16 3047924 Hexagon Head Set Screw 12 1/2 - 20 X 2 1/4 Inch.

      

17 3010247 Valve Cover 11  

18 3628196 Hexagon Head Cap Screw 12 3/8 - 16 x 2 Inch.

19 3628194 Hexagon Head Cap Screw 24 3/8 - 16 x 4 1/2 Inch.

20 4920076 Rocker Lever Cover Gasket 12  

22 3628902 Plain Washer 36  

23 S 181 B Hexagon Head Cap Screw 11 3/8 - 16 X 1/2 in.

24 3038938 Rocker Lever Cover 1  

25 3628604 Pipe Plug 1 1/8 - 27 X 0.3 in.

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

